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Candtdates are required to give their answers in their
own words as far as practicable

Jilustrate the answers wherever necessary

1. Answer any five of the following : 2x5

_ (@) What are lysogenic viruses ? Give an
| example.

" () Whatis palmella stage 7 Give an examplc.

(¢) What is coenosorus ? Give an example.
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(d) What is peristome teeth ? Write its function.
(e) What is meant by heterospory ? |

(/) Write two indian species of Pinus.

(g) Define episome. .

(h) Name one edible and one poisonous fungi.

2. Answer any four of the following : 5x4

(@) Describe the conjugation process in bacteria
with suitable diagram. 3+2

(6) Draw and describe the vegetative structure
of Fucus. What is conceptacle ? 4+1

(c) Write down the significance of endomy;
corrhiza. What is heterocyst ? 4+1]

(d) D}-aw and describg the internal sttucture of
- Marchantia thallus. 2+3

(e) Write down the characteristic features of
Rhynia sp. What is meant by incipient
heterospory ? 3+2

B.Sc.-CBCS/AS/BOT/GE1T/17 ( Continued)



(3)

() Compare the female reproductive structure

of Cycas and Pinus. 5
3. Answer any one of the following : 10x1
| (@) (i) Draw and describe the strcuture of T,
| phage virus. : 2+3
|
j (if) Describe the economic importance of
| algae. 5
' (b) Write short notes on :
(i) Life cycle of Alterneria . | 5
(i) Economic importance of gymno-
sperms. 5
i
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